

*

Z

:

.Z

-1

.

-2

α

-3

. β



.

-

.

- I

.

- II

.

-

.

-

- :

$$n \geq 2 : n$$

$$x^n = (x-1)^n + 1$$

$$p \geq 0 \quad 1 \quad n \quad x^p$$

$$n^2 \quad (2007)^{2008}$$

:

k

$$n \quad x-1 : 1 \quad n \quad x$$

$$x = kn + 1 : x - 1 = kn :$$

:

$$: 1 \quad n \quad x^p$$

$$x^0 = 1 : p = 0 :$$

-

$$. 1 \quad n \quad x^0$$

:

-

$$1 \quad n \quad x^p$$

$$1 \quad n \quad x^{p+1}$$

$$n \quad x^p - 1 : 1 \quad n \quad x^p$$

$$x^{p+1} = x^p \cdot x \quad : \quad x^p = q_1 n + 1 \quad :$$

$$x^{p+1} = (q_1 n + 1) \cdot (kn + 1) \quad :$$

$$x^{p+1} = q_1 kn^2 + q_1 n + kn + 1 \quad :$$

$$x^{p+1} - 1 = (q_1 kn + q_1 + k) n \quad :$$

$$. n \quad x^{p+1} - 1 \quad :$$

$$. 1 \quad n \quad x^{p+1}$$

$$: 2 \quad (2007)^{2008}$$

$$. 1 \quad 2 \quad 2007$$

$$. 1 \quad 2 \quad (2007)^{2008}$$

$$x \equiv y [n] : \quad x - y = kn$$

$$x \equiv y [n] :$$

$$x - y = kn$$

$$7 - 4 = 3 : \quad 7 \equiv 4 [3] \quad (1)$$

$$7 - 1 = 6 : \quad 7 \equiv 1 [3] \quad (2)$$

$$10 - 10 = 0 : \quad 10 \equiv 10 [8] \quad (3)$$

$$-3 - 9 = -12 : \quad (-3 - 9) \equiv -5 [2] \quad (4)$$

$$x \equiv x [n] : \quad x$$

$$x - x = 0 : \quad 0 = kn$$

$$y \equiv x [n] : \quad x$$

$$y \equiv x [n] : \quad x \equiv y [n] :$$

$$x - y = kn : \quad x \equiv y [n] :$$

$$y - x = (-k)n : \quad x - y = kn : \quad k$$

$$y \equiv x [n] : \quad n \quad y - x :$$

$$x, y, z :$$

$$x \equiv z [n] : \quad y \equiv z [n] \quad x \equiv y [n] :$$

$$\begin{array}{l}
 y - z \quad x - y : \quad y \equiv z[n] \quad x \equiv y[n] \\
 x - y = pn : \quad q \quad p \quad n \\
 y - z = qn
 \end{array}$$

$$\begin{array}{l}
 n \quad x - z : \quad x - z = (p + q)n : \\
 x \equiv z[n] :
 \end{array}$$

$$: a, b, x, y : \quad (4)$$

$$\begin{array}{l}
 . x + a \equiv y + b[n] : \quad a \equiv b[n] \quad x \equiv y[n] : \\
 a, x, y : \quad (5)
 \end{array}$$

$$. x + a \equiv y + a[n] : \quad x \equiv y[n] :$$

$$1 \quad a \equiv a[n] \quad x \equiv y[n] :$$

$$. x + a \equiv y + a[n] : \quad 4$$

$$a, b, x, y : \quad (6)$$

$$a.x \equiv by[n] : \quad a \equiv b[n] \quad x \equiv y[n] :$$

$$a \equiv b[n] \quad x \equiv y[n] :$$

$$a - b = qn \quad x - y = p.n : \quad q \quad p$$

$$ax - by = ax - bx + bx - by :$$

$$= (a - b)x + (x - y)b$$

$$= qnx + pnb$$

$$= (qx + pb)n$$

$$. ax \equiv by[n] : \quad n \quad ax - by :$$

$$: a, x, y : \quad (7)$$

$$ax \equiv ay[n] : \quad x \equiv y[n] :$$

$$\begin{aligned}
 & \cdot (1) \quad a \equiv a[n] \quad x \equiv y[n] : \\
 & \quad ax \equiv ay[n] \quad 7 \quad : \\
 & \quad \quad y \quad x \quad (8)
 \end{aligned}$$

$$\cdot \lambda x \equiv \lambda y [\lambda n] : \quad x \equiv y [n] : \quad \cdot \lambda$$

$$x - y = pn : \quad p \quad x \equiv y[n] :$$

$$\lambda x - \lambda y = p (\lambda n) : \quad \lambda (x - y) = \lambda pn :$$

$$\lambda n \quad \lambda x - \lambda y :$$

$$\lambda x \equiv \lambda y [\lambda n] :$$

$$y \quad x \quad (9)$$

$$\cdot x^p \equiv y^p [n] : \quad x \equiv y [n] : \quad \cdot p$$

$$: p \geq 1$$

$$x \equiv y [n] : \quad x \equiv y [n] \quad : p = 1 \quad -$$

$$: \quad k + 1 \quad k \quad -$$

$$x^k \equiv y^k [n] : \quad x \equiv y [n] :$$

$$x^{k+1} \equiv y^{k+1} [n] : \quad x \equiv y [n] \quad :$$

$$\cdot \quad x^k \equiv y^k [n] : \quad x \equiv y [n]$$

$$x^k \cdot x \equiv y^k \cdot y [n] : 6$$

$$\cdot \quad x^{k+1} \equiv y^{k+1} [n] :$$

p

$$: \quad y \quad x \quad p = 0 \quad -$$

$$\cdot \quad x^0 \equiv y^0 [n] \quad x \equiv y [n]$$

$$(n \quad a \quad r) (10)$$

$$\begin{aligned}
 & : \\
 & \quad x \quad n \quad x \quad : x < n \quad - \\
 & \quad (1) \quad) x \equiv x[n] \\
 & \quad n \quad x \quad : x \geq n \quad -
 \end{aligned}$$

$$x - r = nq : \quad \begin{cases} x = nq + r \\ 0 \leq r < n \end{cases} :$$

$$x \equiv r[n] :$$

$$n \quad a \quad a \equiv 0[n] : \quad (11)$$

$$n \quad a \quad a \equiv 0[n]$$

$$\cdot n \quad a \quad n \quad a : 1$$

$$: 2 \quad (2007)^{2008} :$$

$$(9) \quad 2007 \equiv 1[2] :$$

$$(2007)^{2008} \equiv 1[2] : \quad (2007)^{2008} \equiv 1^{2008}[2] :$$

: 2

$$\cdot 7 \quad 1962 \quad \cdot 7 \quad 2^n \quad -1$$

$$7 \quad 12 \cdot 2^{3n+1} + 2^{12n} + 10 : \quad -2$$

\cdot n

$$: 7 \quad 2^n \quad -1$$

$$2^0 \equiv 1[7] ; 2^1 \equiv 2[7] ; 2^2 \equiv 4[7] ; 2^3 \equiv 1[7]$$

$$: 9 \quad 2^3 \equiv 1[7]$$

$$\cdot p \quad 2^{3p} \equiv 1[7]$$

$$2^{3p+1} = 2[7] : \quad 2^{3p} \cdot 2 \equiv 1 \cdot 2[7] : \quad 2 \equiv 2[7] :$$

$$2^{3p} \cdot 2^2 \equiv 1 \cdot 4 [7] : \quad 2^2 \equiv 4 [7] :$$

$$2^{3p+2} \equiv 4 [7] :$$

$$2^n \equiv 1 [7] : n = 3p :$$

$$2^n \equiv 2 [7] : n = 3p + 1 :$$

$$2^n \equiv 4 [7] : n = 3p + 2 :$$

$$: 7 \quad 2^{1962}$$

$$1962 = 3p : \quad 1962 = 3 \times 654 :$$

$$2^{1962} \equiv 1 [7] :$$

$$12 \cdot 2^{3n+1} + 10 \cdot 2^{12n} + 8 \equiv 0 [7] : \quad -2$$

$$2^{3n+1} \equiv 2 [7] \quad 12 \equiv 5 [7] :$$

$$12 \cdot 2^{3n+1} \equiv 2 \times 5 [7] :$$

$$10 \equiv 3 [7] : \quad (1) \dots 12 \cdot 2^{3n+1} \equiv 3 [7] :$$

$$2^{3n} \equiv 1 [7] : \quad 2^{12n} = (2^{3n})^4 :$$

$$(2) \dots 2^{12n} \equiv 1 [7] : \quad (2^{3n})^4 \equiv (1)^4 [7] :$$

$$12 \cdot 2^{3n+1} + 2^{12n} + 10 \equiv 4 + 10 [7] : \quad (2) \quad (1)$$

$$. 12 \cdot 2^{3n+1} + 2^{12n} + 10 \equiv 0 [7] :$$



: - 1

:

$\cdot x \geq 2$ x

:

N

$$N = a_0 + a_1x + a_2x^2 + \dots + a_nx^n$$

$(a_n \neq 0) x$

$a_0, a_1, a_2, \dots, a_n :$

: 1

:

1954

$$1954 = 1 \cdot 10^3 + 9 \cdot 10^2 + 5 \cdot 10^1 + 4$$

$\cdot x = 10 :$

$$1954 = 4 + 5 \cdot 10^1 + 9 \cdot 10^2 + 1 \cdot 10^3$$

: 2

: 2

47

:

$$47 = 23 \times 2 + 1$$

$$23 = 11 \times 2 + 1$$

$$11 = 5 \times 2 + 1$$

$$5 = 2 \times 2 + 1$$

$$2 = 1 \times 2 + 0$$

$$1 = 0 \times 2 + 1$$

$$\overline{101111}^2$$

47

: 3

:

$$2007 = 250 \times 8 + 7$$

$$250 = 31 \times 8 + 2$$

$$31 = 3 \times 8 + 7$$

$$3 = 0 \times 8 + 3$$

8

2007

$$\overline{3727}^8 :$$

: x

- 2

$$N \cdot x \geq 2 :$$

x

$$N = a_0 :$$

$$N < x$$

-

: x

$$N = 0 + 1 \cdot x : N = x$$

-

x

$$N = \overline{01} :$$

: x

$$N > x$$

-

$$N = a_0 + a_1 x + a_2 x^2 + \dots + a_n x^n$$

$$N = \overline{a_n a_{n-1} \dots a_1 a_0}^x :$$

x

N

.

x

x

x

:

$$: 10$$

N

$$N = a_0 + a_1 \cdot 10 + a_2 \cdot 10^2 + \dots + a_n \cdot 10^n$$

$$N = \overline{a_n a_{n-1} \dots a_1 a_0} :$$

N

$$N = \overline{a_n a_{n-1} \dots a_1 a_0}^{10}$$

:

x

- 3

$$N = 2 \cdot 3^0 + 1 \cdot 3^1 + 0 \cdot 3^2 + 2 \cdot 3^3 + 0 \cdot 3^4 + 0 \cdot 3^5 + 2 \cdot 3^6$$

$$N = 2 + 3 + 0 + 45 + 0 + 0 + 1458$$

$$N = 1517$$

$$N = 10^{\alpha} \cdot \beta \quad - 4$$

$$N = 10^{\alpha} \cdot \beta$$

$$(N)_{10} = \beta$$

$$\beta$$

$$2$$

$$N = \overline{11101101}^2$$

$$: 10$$

$$N$$

$$N = 1 \cdot 2^0 + 0 \cdot 2^1 + 1 \cdot 2^2 + 1 \cdot 2^3 + 0 \cdot 2^4 + 1 \cdot 2^5 + 1 \cdot 2^6 + 1 \cdot 2^7$$

$$N = 1 + 4 + 8 + 32 + 64 + 128$$

$$N = 237$$

$$: 5$$

$$N$$

$$237 = 47 \times 5 + 2$$

$$47 = 9 \times 5 + 2$$

$$9 = 1 \times 5 + 4$$

$$1 = 0 \times 5 + 1$$

$$\overline{1422}^5 : N$$

. 9·8·7·6·5·4·3·2·1·0 :

. 1·0

7·6·5·4·3·2·1·0 : 8

: 11

. (α = 10 :) α 7·6·5·4·3·2·1·0·8·9

: 12

. β = 11 α = 10 : β α 7·6·5·4·3·2·1·0·8·9

. 12

1954

$$1954 = 162 \times 12 + 10$$

$$162 = 13 \times 12 + 6$$

$$13 = 1 \times 12 + 1$$

$$1 = 0 \times 12 + 1$$

: 12

1954

$$\alpha = 10 : \overline{116\alpha}^{12}$$

: -5

: 10

N

$$N = a_n a_{n-1} \dots a_2 a_1 a_0$$

$$N = a_0 + a_1 \cdot 10 + a_2 \cdot 10^2 + \dots + a_n 10^n :$$

$$10^p \equiv 0 [2] : : 2$$

$$N \equiv a_0 [2] : p$$

$$a_0 \equiv 0 [2] : N \equiv 0 [2] :$$

$$a_0 \in \{0, 2, 4, 6, 8\} :$$

p

$$10^p \equiv 0 [5] : : 5$$

<http://www.onefd.edu.dz>

جميع الحقوق محفوظة ©

$$a_0 \in \{0, 5\} : a_0 \equiv 0 [5] : N \equiv 0 [5] :$$

$$p \quad 10^p \equiv 0[4] : \quad : 4 \quad -$$

$$N \equiv a_0 + a_1 \cdot 10[4] : \quad p \geq 2 :$$

$$a_1 a_0 \equiv 0[4] : \quad N \equiv 0[4]$$

. 4

$$10^p \equiv 0[25] : \quad :: \quad : 25 \quad -$$

$$N \equiv a_0 + a_1 \cdot 10[25] : \quad p \geq 2 : \quad p$$

$$a_1 a_0 \equiv 0[25] : \quad N \equiv 0[25]$$

. 25

$$p \quad 10^p \equiv 1[3] : \quad : 3 \quad -$$

$$N \equiv 0[3] : \quad p \geq 1 :$$

$$(a_0 + a_1 + \dots + a_n) \equiv 0[3] :$$

$$p \geq 1 : \quad p \quad 10^p \equiv 1[9] : \quad : 9 \quad -$$

$$N \equiv 0[9] :$$

$$(a_0 + a_1 + \dots + a_n) \equiv 0[9] :$$

$$p \quad 10^p \equiv -1[11] : \quad : 11 \quad -$$

$$N \equiv 0[11] : \quad \cdot \quad p \quad N \equiv 1[11]$$

$$\left[a_0 - a_1 + a_2 - a_3 + \dots + (-1)^n a_n \right] \equiv 0[11] :$$

1

: 3

$n \quad 4 \cdot 7^n - 8, 2^{1954}, 4^{2007}, (4111)^{1830}$

2

: 7

$863^{1800} \times 8030^{1260}, (19)^{522} \times (23)^{987}, 2018^{645}$

3

$10^{3n} \equiv 1 [37] : n$

$37 \mid 10^{10} + 10^{20} + 10^{30} :$

4

: n

1) $n^7 \equiv n [7]$ 2) $n(n^2 - 1) \equiv 0 [3]$

3) $3 \times 5^{2n+1} + 2^{3n+1} \equiv 0 [17]$ 4) $3^{2n+2} - 2^{n+1} \equiv 0 [7]$

5

$9 \mid 7^n \quad n$

$9 \mid (56212)^{1954}$

: n

$16^{3n} + 16^n - 2 \equiv 0 [9]$

6

$3^n \quad 5^n \quad n$

$5^n - 3^n \quad 11$

: n . 11

$5^n - 3^n - 16 \equiv 0 [11]$

7

2) $x^2 - 3x + 4 \equiv 0 [7] :$

x

1) $3x \equiv 4 [7]$

3) $\begin{cases} x \equiv 3 [5] \\ x \equiv 1 [6] \end{cases}$

8

$n^2 - 3n + 12 \equiv 0 [n - 2] :$

n

9

n

(1

$. 7 \quad 3^n \quad 2^n$

$3^{2^n} - 2^n \equiv 0 [7] :$

n

(2

n

(3

$9^{2^{p+1}} - 2^{2^{p+1}} \equiv 0 [7] :$

$3^n \equiv 2^n [7] :$

n

(4

10

1418 , 1989 , 1961

. 4

11

:

11

$\overline{15672}^8 , 8945 , \overline{101010}^2 , \overline{10141}^5$

12

: 7

A

$A = \overline{63x4}$

. 6

A

x

13

17

N

$$N = \overline{342x} :$$

. 12

N

x

14

. 7 4^n

- 1

$\overline{13321} :$

N

- 2

. 4

. 7 N

15

$$\overline{122} \times \overline{103} = \overline{13121} :$$

16

$$(\overline{132})^2 = \overline{21054} :$$

17

:

$B \quad A$

$$A = \overline{302} \quad B = \overline{402}$$

$\overline{.75583} :$

9

$A \times B$

18

$\overline{30407}$

12551

19

: 2

$$\overline{101011} + \overline{100111}$$

$$\overline{1111} \times \overline{1101}$$

$$, \overline{11110} + \overline{11111}$$

$$, \overline{10001} \times \overline{11100}$$

20

abc

a, b, c

$$1 < a \leq b \leq c$$

a, b, c

$$. b + c = \overline{46} \quad bc = \overline{555}$$

1

$$\begin{aligned}
 & : 3 \\
 (4111)^{1830} & \equiv (1)^{1830} [3] & 4111 & \equiv 1[3] & - \\
 (4111)^{1830} & \equiv 1[3] : \\
 (4)^{2007} & \equiv (1)^{2007} [3] : & 4 & \equiv 1[3] : & - \\
 & & 4^{2007} & \equiv 1[3] : \\
 2^{1954} & = 4^{977} : & 2^{1954} & = (2^2)^{977} : & - \\
 2^{1954} & \equiv 1[3] : & 4^{977} & \equiv 1[3] : & 4 & \equiv 1[3] : \\
 7^n & \equiv 1[3] : & 7^n & \equiv (1)^n [3] : & 7 & \equiv 1[3] : & - \\
 & & 4 \cdot 7^n & \equiv 1[3] : & 4 & \equiv 1[3] \\
 4 \cdot 7^n - 8 & \equiv -1[3] : & 8 & \equiv 2[3] : \\
 4 \cdot 7^n - 8 & \equiv 2[3] : & -1 & \equiv 2[3] :
 \end{aligned}$$

2

$$\begin{aligned}
 & : 7 \\
 2018^{645} & \equiv 2[7] : & 2018 & \equiv 2[7] & - \\
 (2018)^{645} & \equiv 8^{216} [7] : & 2018^{645} & \equiv (2^3)^{216} [7] : \\
 (2018)^{645} & \equiv 1[7] : & 8 & \equiv 1[7] : \\
 (19)^{522} & \equiv (-2)^{522} [7] : & 19 & \equiv (-2)[7] & - \\
 8 & \equiv 1[7] : & (19)^{522} & \equiv 8^{174} [7] \\
 & & (1) \dots (19)^{522} & \equiv 1[7] : \\
 (23)^{987} & \equiv 2^{987} [7] : & 23 & \equiv 2[7] :
 \end{aligned}$$

$$\begin{aligned}
(23)^{987} &\equiv 8^{329} [7] : & (23)^{987} &\equiv (2^3)^{329} [7] : \\
(2)\dots(23)^{987} &\equiv 1[7] : & 8 &\equiv 1[7] : \\
(19)^{522} \times (23)^{987} &\equiv 1[7] : (2) (1) \\
(8030)^{1260} &\equiv 1[7] : & 8030 &\equiv 1[7] : - \\
(863)^{1800} &\equiv 2^{1800} [7] : & 863 &\equiv 2[7] \\
(863)^{1800} &\equiv 8^{600} [7] : & (863)^{1800} &\equiv (2^3)^{600} [7] : \\
8 &\equiv 1[7] : & (863)^{1800} &\equiv 1[7] : \\
(863)^{1800} \times (8030)^{1260} &\equiv 1[7] :
\end{aligned}$$

3

$$: 10^{3n} \equiv 1[37] \quad -$$

$$10^{3n} \equiv (1000)^n [37] : \quad 10^{3n} \equiv (10^3)^n [37] :$$

$$10^{3n} \equiv 1^n [37] : \quad 1000 \equiv 1[37] :$$

$$10^{3n} \equiv 1[37] :$$

$$: 37 \quad 10^{10} + 10^{20} + 10^{30} \quad -$$

$$10^{10} + 10^{20} + 10^{30} = 10^{10} (1 + 10^2 + 10^3)$$

$$10^{10} \equiv 10^{3 \times 3 + 1} [37] \quad 10^3 \equiv 1[37] :$$

$$10^{10} \equiv 10[37] : \quad 10^{10} \equiv 10^{3 \times 3} \times 10[37] :$$

$$10^{10} + 10^{20} + 10^{30} \equiv 10(1 + 10^2 + 1)[37] :$$

$$10^{10} + 10^{20} + 10^{30} \equiv 10(1 + 10^3 + 10)[37] :$$

$$10^3 \equiv 1[37] : \quad 10^{10} + 10^{20} + 10^{30} \equiv 21[37] :$$

$$: n^7 \equiv n[7] \quad (1)$$

$$n^7 \equiv n[7] : \quad n^7 \equiv 0[7] : \quad n \equiv 0[7] \quad -$$

$$n^7 \equiv n[7] : \quad n^7 \equiv 1[7] : \quad n \equiv 1[7] \quad -$$

$$n^7 \equiv n[7] : \quad n^7 \equiv 2^7[7] : \quad n \equiv 2[7] \quad -$$

$$n^7 \equiv n[7] : \quad n^7 \equiv 3^7[7] : \quad n \equiv 3[7] \quad -$$

$$: \quad n^7 \equiv 4^7[7] : \quad n \equiv 4[7] \quad -$$

$$n^7 \equiv n[7] : \quad n^7 \equiv 4[7] : \quad n^7 \equiv 16384[7]$$

$$: \quad n^7 \equiv 5^7[7] : \quad n \equiv 5[7] \quad -$$

$$n^7 \equiv n[7] : \quad n^7 \equiv 5[7] : \quad n^7 \equiv 78125[7]$$

$$n^7 \equiv 6^7[7] : \quad n \equiv 6[7] \quad -$$

$$n^7 \equiv 6[7] : \quad n^7 \equiv 279936[7] :$$

$$n^7 \equiv n[7] :$$

$$n^7 \equiv n[7] \quad n$$

$$: n(n^2 - 1) \equiv 0[3] : \quad (2)$$

$$n^2 - 1 \equiv -1[3] : \quad n^2 \equiv 0[3] : n \equiv 0[3] \quad -$$

$$n(n^2 - 1) \equiv 0[3] :$$

$$n^2 - 1 \equiv 0[3] : \quad n^2 \equiv 1[3] : n \equiv 1[3] \quad -$$

$$n(n^2 - 1) \equiv 0[3] :$$

$$n^2 - 1 \equiv 0[3] : \quad n^2 \equiv 1[3] : n \equiv 2[3] \quad -$$

$$n(n^2 - 1) \equiv 0[3] :$$

$$http://www.n(n^2 - 1) \equiv 0[3] : \quad nC \text{ جميع الحقوق محفوظة}$$

$$3 \times 5^{2n+1} + 2^{3n+1} \equiv 0[17] : \quad (3)$$

$$2^{3n+1} = (2^3)^n \times 2 : \quad 2^{3n+1} = 2^{3n} \cdot 2 :$$

$$(1)...2^{3n+1} \equiv 2 \times 8^n [17] : \quad 2^{3n+1} = 8^n \times 2 :$$

$$3 \times 5^{2n+1} = 3 \times 5^{2n} \times 5 :$$

$$= 15 \times (5^2)^n = 15 \times (25)^n$$

$$: \quad 25 \equiv 8[17] \quad 15 \equiv -2[17] :$$

$$(2)...3 \times 5^{2n+1} \equiv -2 \times 8^n [17]$$

$$3 \times 5^{2n+1} + 2^{3n+1} \equiv 0[17] : (2) \quad (1)$$

$$3^{2n+2} - 2^{n+1} \equiv 0[7] : \quad (4)$$

$$3^{2n+2} = (3^2)^n \times 9 : \quad 3^{2n+2} = 3^{2n} \times 3^2 :$$

$$3^{2n+2} = 9^{n+1} : \quad 3^{2n+2} = 9^n \times 9 :$$

$$3^{2n+2} \equiv 2^{n+1}[7] : \quad 9 \equiv 2[7] :$$

$$3^{2n+2} - 2^{n+1} \equiv 0[7] :$$

5

: 9 7ⁿ -

$$7^0 \equiv 1[9] , 7^1 \equiv 7[9] , 7^2 \equiv 4[9] , 7^3 \equiv 1[9]$$

$$k \quad 7^{3k} \equiv 1[9] : \quad 7^3 \equiv 1[9] :$$

$$7^{3k+1} \equiv 7[9] : \quad 7^{3k} \cdot 7 \equiv 1 \cdot 7[9] :$$

$$7^{3k+2} \equiv 4[9] : \quad 7^{3k+1} \cdot 7 \equiv 7 \times 7[9]$$

$$. 4 \cdot 7 \cdot 1 : \quad 9 \quad 7^n$$

$$1 : \quad n = 3k$$

$$7 : \quad n = 3k + 1$$

$$4 : \quad n = 3k + 2$$

$$: 9 \quad (56212)^{1954} \quad -$$

$$(56212)^{1954} = 7^{1954} [9] : \quad 56212 = 7[9] :$$

$$7^{1954} \equiv 7[9] : \quad 1954 = 3 \times 651 + 1 :$$

$$(56212)^{1954} = 7[9] :$$

$$16^{3n} + 16^n - 2 \equiv 0[9] : \quad n \quad -$$

$$7^{3n} + 7^n - 2 \equiv 0[9] : \quad 16 \equiv 7[9] :$$

$$7^n \equiv 1[9] : \quad 7^n - 1 \equiv 0[9] : \quad 7^{3n} \equiv 1[9] :$$

$$k \in \mathbb{N} : \quad n = 3k :$$

6

$$: 11 \quad 5^n \quad -$$

$$5^0 \equiv 1[11] ; 5^1 \equiv 5[11] ; 5^2 \equiv 3[11] ; 5^3 \equiv 4[11]$$

$$5^4 \equiv 9[11] ; 5^5 \equiv 1[11]$$

$$k \in \mathbb{N} : \quad 5^{5k} \equiv 1[11] : \quad 5^5 \equiv 1[11] :$$

$$5^{5k+3} \equiv 4[11] \quad 5^{5k+2} \equiv 3[11] \quad 5^{5k+1} \equiv 5[11] :$$

$$5^{5k+4} \equiv 9[11]$$

$$: \quad n \quad 9, 4, 3, 5, 1 :$$

$$5k + 4 \quad 5k + 3 \quad 5k + 2 \quad 5k + 1 \quad 5k$$

$$: 11 \quad 3^n \quad -$$

$$3^0 \equiv 1[11] ; 3^1 \equiv 3[11] ; 3^2 \equiv 9[11] ; 3^3 \equiv 5[11]$$

$$3^4 \equiv 4[11] ; 3^5 \equiv 1[11]$$

$$k \in \mathbb{N} : \quad 3^{5k} \equiv 1[11] : \quad 3^5 \equiv 1[11] :$$

$$3^{5k+3} \equiv 5[11] \quad 3^{5k+2} \equiv 9[11] \quad 3^{5k+1} \equiv 3[11] :$$

<http://www.onefd.edu.dz> n 4 5 9 3 1 : محفوظة $5^{5k+4} \equiv 4[11]$

$$5k + 4 \quad 5k + 3 \quad 5k + 2 \quad 5k + 1 \quad 5k :$$

$$: 11 \quad 5^n - 3^n \quad -$$

$$5^n - 3^n \equiv 0[11] : n = 5k \quad *$$

$$5^n - 3^n \equiv 2[11] : n = 5k + 1 \quad *$$

$$5^n - 3^n \equiv -6[11] : n = 5k + 2 \quad *$$

$$5^n - 3^n \equiv 5[11] :$$

$$5^n - 3^n \equiv -1[11] : n = 5k + 3 \quad *$$

$$5^n - 3^n \equiv 10[11] :$$

$$5^n - 3^n \equiv 5[11] : n = 5k + 4 \quad *$$

$$5^n - 3^n - 16 \equiv 0[11] : \quad n \quad -$$

$$5^n - 3^n \equiv 5[11] : \quad 5^n - 3^n \equiv 16[11] :$$

$$k \in \mathbb{N} \quad n \equiv 5k + 2 :$$

7

$$3x \equiv 4[7] : \quad x \quad (1)$$

$$3x \equiv -3[7] : \quad 4 \equiv -3[7] :$$

$$3(x + 1) \equiv 0[7] : \quad 3x + 3 \equiv 0[7] :$$

$$7 \quad 3 : \quad x + 1 \equiv 0[7] :$$

$$x \equiv 6[7] : \quad x \equiv -1[7] :$$

$$\alpha \in \mathbb{Z} \quad x \equiv 7\alpha + 6 :$$

$$-3 \equiv 4[7] : \quad x^2 - 3x + 4 \equiv 0[7] : \quad (2)$$

$$x^2 + 4x + 4 \equiv 0[7] : \quad x^2 - 3x + 4 \equiv 0[7] :$$

$$x + 2 \equiv 0[7] : \quad (x + 2)^2 \equiv 0[7] :$$

$$x \equiv 5[7] : \quad x \equiv -2[7] :$$

$$\alpha \in \mathbb{Z} \quad x = 7\alpha + 5 :$$

$$\begin{cases} x \equiv 3 [5] \dots (1) \\ x \equiv 1 [6] \dots (2) \end{cases} : \quad (3)$$

$$5\alpha + 3 \equiv 1 [6] : \quad (2)$$

$$\alpha \in \mathbb{Z} \quad x = 5\alpha + 3 : (1)$$

$$5\alpha \equiv -2 [6] :$$

$$5\alpha \equiv -\alpha [6] : \quad 5 \equiv -1 [7] :$$

$$\alpha \equiv 2 [6] : \quad -\alpha \equiv -2 [6] :$$

$$x = 5(6\beta + 2) + 3 : \quad \alpha = 6\beta + 2 :$$

$$\beta \in \mathbb{Z} \quad x = 30\beta + 13 :$$

8

$$n^2 - 3n + 12 \equiv 0 [n-2] : \quad n$$

$$n^2 - 3n + 12 = n^2 - 2n - n + 12 :$$

$$= n(n-2) - n + 2 + 10$$

$$= n(n-2) - (n-2) + 10$$

$$= (n-1)(n-2) + 10$$

$$(n-1)(n-2) \equiv 0 [n-2] :$$

$$n^2 - 3n + 12 \equiv 10 [n-2] :$$

$$10 \equiv 0 [n-2] : \quad n^2 - 3n + 12 \equiv 0 [n-2] :$$

$$n-2 \in \{1 ; 2 ; 5 ; 10\} : \quad . 10 \quad n-2 :$$

$$n \in \{3 ; 4 ; 7 ; 12\} :$$

9

$$: 7 \quad 2^n \quad - 1$$

$$2^0 \equiv 1 [7] ; 2^1 \equiv 2 [7] ; 2^2 \equiv 4 [7] ; 2^3 \equiv 1 [7]$$

$$2^{3\alpha+1} \equiv 2 [7] \quad 2^{3\alpha} \equiv 1 [7] : \quad 2^3 \equiv 1 [7] :$$

$$\begin{aligned} & \alpha \quad 2^{3\alpha+2} \equiv 4[7] \\ & : 7 \quad 3^n \quad - \\ 3^0 & \equiv 1[7] ; 3^1 \equiv 3[7] ; 3^2 \equiv 2[7] ; 3^3 \equiv 6[7] \\ 3^4 & \equiv 4[7] ; 3^5 \equiv 5[7] ; 3^6 \equiv 1[7] \\ 3^{6\beta} & \equiv 1[7] : \quad 3^6 \equiv 1[7] : \\ 3^{6\beta+3} & \equiv 6[7] \quad 3^{6\beta+2} \equiv 2[7] \quad 3^{6\beta+1} \equiv 3[7] : \\ \beta \quad 3^{6\beta+5} & \equiv 5[7] \quad 3^{6\beta+4} \equiv 4[7] \\ 3^{2n} - 2^n & \equiv 0[7] : \quad -2 \end{aligned}$$

$$\begin{aligned} 3^{2n} & = 9^n : \quad 3^{2n} = (3^2)^n : \\ 9^n & \equiv 2^n[7] : \quad 9 \equiv 2[7] : \\ 3^{2n} - 2^n & \equiv 0[7] : \quad 3^{2n} \equiv 2^n[7] : \\ 9^{2p+1} - 2^{2p+1} & \equiv 0[7] : \quad -3 \\ (3^2)^{2p+1} - 2^{2p+1} & \equiv 0[7] : \\ 3^{2n} - 2^n & \equiv 0[7] : \quad 2p+1 = n : \end{aligned}$$

$$3^n \equiv 2^n[7] : \quad n \quad -4$$

$$\begin{aligned} 2^{6\alpha} & \equiv 1[7] : \quad (2^{3\alpha})^2 \equiv 1^2[7] : \quad 2^{3\alpha} \equiv 1[7] : \\ 2^{6\alpha+3} & \equiv 1[7] \quad 2^{6\alpha+2} \equiv 4[7] \quad 2^{6\alpha+1} \equiv 2[7] : \\ 2^{6\alpha+5} & \equiv 4[7] \quad 2^{6\alpha+4} \equiv 2[7] \\ p \in \mathbb{N} : \quad n & = 6p : \quad 3^n \equiv 2^n[7] : \end{aligned}$$

: 4

$$1961 = 490 \times 4 + 1 \quad : 1961 \quad *$$

$$490 = 122 \times 4 + 2$$

$$122 = 30 \times 4 + 2$$

$$30 = 7 \times 4 + 2$$

$$7 = 1 \times 4 + 3$$

$$1 = 0 \times 4 + 1$$

$${}^4\overline{132221} : 1961$$

$$1989 = 497 \times 4 + 1 \quad : 1989 \quad *$$

$$497 = 124 \times 4 + 1$$

$$124 = 31 \times 4 + 0$$

$$31 = 7 \times 4 + 3$$

$$7 = 1 \times 4 + 3$$

$$1 = 0 \times 4 + 1$$

$${}^4\overline{133011} : 1989$$

$$1418 = 202 \times 7 + 4 \quad : 1418 \quad *$$

$$202 = 28 \times 7 + 6$$

$$28 = 4 \times 7 + 0$$

$$4 = 0 \times 7 + 4$$

$${}^4\overline{4064} : 1418$$

:

$$\begin{aligned} 1961 &= 1 \times 4^0 + 2 \cdot 4^1 + 2 \cdot 4^2 + 2 \cdot 4^3 + 3 \cdot 4^4 + 1 \cdot 4^5 \\ &= 1 + 2(2^2)^1 + 2(2^2)^2 + 2(2^2)^3 + (1+2)(2^2)^4 + 1 \cdot (2^2)^5 \\ &= 2^0 + 2^3 + 2^5 + 2^7 + 2^8 + 2^9 + 2^{10} \\ &= 1 \cdot 2^0 + 1 \cdot 2^3 + 1 \cdot 2^5 + 1 \cdot 2^7 + 1 \cdot 2^8 + 1 \cdot 2^9 + 1 \cdot 2^{10} \end{aligned}$$

$$\overline{11110101001}^2 : 1961$$

$$\text{http://www.onef} \quad 1418 = 4 \cdot 4^0 + 6 \cdot 4^1 + 0 \cdot 4^2 + 4 \cdot 4^3$$

$$= 2^2 + (2 + 2^2) \cdot 2^2 + 2^2 \cdot (2^2)^3$$

$$\begin{aligned}
 &= 2^2 + 2^3 + 2^4 + 2^8 \\
 &= 1.2^2 + 1.2^3 + 1.2^4 + 1.2^8 \\
 &\quad \overline{100011100}^2 \quad : \quad 1418 \quad :
 \end{aligned}$$

11

$$: \quad A = \overline{10141}^5 \quad -$$

$$A = 1.5^0 + 4.5^1 + 1.5^2 + 0.5^3 + 1.5^4$$

$$A = 1 + 20 + 25 + 625$$

$$A = 671$$

$$: 11 \quad 671$$

$$671 = 61 \times 11 + 0$$

$$61 = 5 \times 11 + 6$$

$$5 = 0 \times 11 + 5$$

$$\overline{560}^{11} : \quad 671$$

$$: \quad B = \overline{101010}^2 \quad -$$

$$B = 0.2^0 + 1.2^1 + 0.2^2 + 1.2^3 + 0.2^4 + 1.2^5 = 42$$

$$: 11 \quad 42$$

$$42 = 3 \times 11 + 9$$

$$3 = 0 \times 11 + 3$$

$$\overline{39}^{11} \quad 42$$

$$: 11 \quad 8945 \quad -$$

$$8945 = 813 \times 11 + 2$$

$$813 = 73 \times 11 + 10$$

$$73 = 6 \times 11 + 7$$

$$6 = 0 \times 11 + 6$$

$$\alpha = 10 : \quad \overline{67\alpha 2}^{11} \quad 8945$$

$$\begin{aligned}
 C &= 2.8^0 + 7.8^1 + 6.8^2 + 5.8^3 + 1.8^4 \\
 &= 2 + 56 + 384 + 2560 + 4096 \\
 &= 7098
 \end{aligned}$$

: 11

C

$$7098 = 645 \times 11 + 3$$

$$645 = 58 \times 11 + 7$$

$$58 = 5 \times 11 + 3$$

$$5 = 0 \times 11 + 5$$

$$\therefore \overline{5373}^{11} : C$$

12

$$A = \overline{63x4}^7 : x$$

$$0 \leq x \leq 6 :$$

$$A = 4.7^0 + x.7^1 + 3.7^2 + 6.7^3 : A$$

$$A = 4 + x.7 + 3.7^2 + 6.7^2 :$$

$$7^3 \equiv 1[6] \quad 7^2 \equiv 1[6] : \quad 7 \equiv 1[6] :$$

$$A \equiv 1 + x[6] : \quad A \equiv 4 + x + 3 + 6[6] :$$

$$1 + x \equiv 0[6] : \quad A \equiv 0[6] :$$

$$-1 \equiv 5[6] : \quad x \equiv 5[6] : \quad x \equiv -1[6] :$$

$$\therefore 0 \leq x \leq 6 : \quad x = 5 :$$

13

$$N = \overline{342x}^{17} : x$$

: N

$$N = x.17^0 + 2.17^1 + 4.17^2 + 3.17^3$$

$$N = x + 2.17^1 + 4.17^2 + 3.17^3 \quad 0 \leq x \leq 16 :$$

$$17^2 \equiv 5^5[12] : \quad 17 \equiv 5[12] :$$

$$17^3 \equiv 5[12] : \quad 17^2 \equiv 1[12] :$$

$$\begin{aligned}
N &\equiv x + 10 + 4 + 15 [12] & : \\
N &\equiv x + 5 [12] & : & N \equiv x + 29 [12] \\
x + 5 &\equiv 0 [12] & : & N \equiv 0 [12] : \\
x &\equiv 7 [12] & : & x \equiv -5 [12] : \\
\alpha \in \mathbb{N} & x = 12\alpha + 7 & : \\
0 \leq 12\alpha + 7 \leq 16 & : & 0 \leq x \leq 16 : \\
-0,58 \leq \alpha \leq 0,75 & : & -7 \leq 12\alpha \leq 9 : \\
. x = 7 & : & \alpha = 0 :
\end{aligned}$$

14

$$\begin{aligned}
& : 7 & 4^n & -1 \\
4^0 &\equiv 1 [7] ; 4^1 \equiv 4 [7] ; 4^2 \equiv 2 [7] ; 4^3 \equiv 1 [7] \\
4^{3\alpha+2} &\equiv 2 [7] & 4^{3\alpha+1} \equiv 4 [7] : & 4^{3\alpha} \equiv 1 [7] : \\
& : 7 & N & -2 \\
N &= 1.4^0 + 2.4^1 + 3.4^2 + 3.4^3 + 1.4^4 & : \\
N &\equiv 1 + 2(4) + 3(2) + 3(1) + (4) [7] : \\
N &\equiv 1 [7] & : & N \equiv 22 [7] : \\
& . 1
\end{aligned}$$

15

$$\begin{aligned}
& : & x & - \\
(2.x^0 + 2.x^1 + 1.x^2) &\times (3.x^0 + 0.x^1 + 1.x^2) \\
&= (1.x^0 + 2.x^1 + 1.x^2 + 3.x^3 + 1.x^4) \\
& : & x \geq 4 : \\
(2 + 2x + x^2) &(3 + x^2) = (1 + 2x + x^2 + 3x^3 + x^4)
\end{aligned}$$

$$-x^3 + 4x^2 + 4x + 5 = 0 :$$

5

$$(x - 5)(-x^2 - x - 1) = 0$$

$$-x^2 - x - 1 = 0 : \quad x - 5 = 0 :$$

$$-x^2 - x - 1 = 0 :$$

$$. \quad x = 5 : \quad . \quad \Delta = -3 :$$

16

x

$$(2 + 3x + 1x^2)^2 = 4 + 5x + 0x^2 + 1x^3 + 2x^4$$

$$(x^2 + 3x + 2)^2 = 4 + 5x + x^3 + 2x^4$$

$$x^4 + 6x^3 + 13x^2 + 12x + 4 = 4 + 5x + x^3 + 2x^4$$

$$-x^4 + 5x^3 + 13x^2 + 7x = 0 :$$

$$x(-x^3 + 5x^2 + 13x + 7) = 0 :$$

$$x \geq 6 : \quad -x^3 + 5x^2 + 13x + 7 = 0 :$$

7

$$(x - 7)(-x^2 - 2x - 1) = 0$$

$$-x^2 - 2x - 1 = 0 : \quad x - 7 = 0 :$$

$$-x^2 - 2x - 1 = 0 :$$

$$. \quad x_0 = -1 \quad \Delta = 0 :$$

$$x = 7 :$$

17

x

$$A = 2x^0 + 0x^1 + 3x^2 = 2 + 3x^2$$

$$x \geq 5 : \quad B = 2x^0 + 0x^1 + 4x^2 = 2 + 4x^2$$

<http://www.onefd.edu.dz>

$$A B = (2 + 3x^2)(2 + 4x^2) :$$

جميع الحقوق محفوظة ©

$$AB = 4 + 8x^2 + 6x^2 + 12x^4 \quad :$$

$$AB = 4 + 14x^2 + 12x^4$$

:

$$AB = 3.9^0 + 8.9^1 + 5.9^2 + 5.9^3 + 7.9^4$$

$$AB = 3 + 72 + 405 + 3645 + 45927$$

$$AB = 50052$$

$$12x^4 + 14x^2 + 4 = 50052 \quad :$$

$$12x^4 + 14x^2 - 50048 = 0$$

$$12y^2 + 14y - 50048 = 0 \quad : \quad x^2 = y \quad :$$

$$\Delta' = 600625 = (775)^2 \quad : \quad \Delta' = (7)^2 + 50048 \times 12 \quad :$$

$$(\quad) \quad y_1 = \frac{-7 - 775}{12} = \frac{-782}{12} \quad :$$

$$y = 64 \quad : \quad y_2 = \frac{-7 + 775}{12} = 64$$

$$. \quad x = 8 \quad : \quad x^2 = 64 \quad :$$

18

: x

$$12551 = 7.x^0 + 0.x^1 + 4.x^2 + 0.x^3 + 3.x^4$$

$$12551 = 7 + 4x^2 + 3x^4, x \geq 8$$

$$3x^4 + 4x^2 - 12544 = 0 \quad :$$

$$3y^2 + 4y - 12544 = 0 \quad : \quad y = x^2 \quad :$$

$$\Delta' = (2)^2 - (-12544)(3) = 37636 = (194)^2 \quad :$$

:

$$y_1 = \frac{-2 - 194}{3} = \frac{-196}{3} \quad (\quad)$$

$$. \quad x = 8 \quad : \quad x^2 = 64 \quad :$$

$$y_2 = \frac{-2 + 194}{3} = 64$$

$$\begin{array}{r}
 \begin{array}{r}
 \overline{2} \\
 \hline
 101011 \\
 + \overline{2} \\
 \hline
 100111 \\
 \hline
 \overline{2} \\
 \hline
 1010010
 \end{array}
 \qquad
 \begin{array}{r}
 \overline{2} \\
 \hline
 11110 \\
 + \overline{2} \\
 \hline
 11111 \\
 \hline
 \overline{2} \\
 \hline
 111101
 \end{array}
 \end{array}$$

$$\begin{array}{r}
 \begin{array}{r}
 \overline{2} \\
 \hline
 1111 \\
 \times \overline{2} \\
 \hline
 1101 \\
 \hline
 1111 \\
 0000 . \\
 1111 . \\
 1111 . \\
 \hline
 \overline{2} \\
 \hline
 11000011
 \end{array}
 \qquad
 \begin{array}{r}
 \overline{2} \\
 \hline
 10001 \\
 \times \overline{2} \\
 \hline
 11100 \\
 \hline
 00000 \\
 00000 . \\
 10001 . \\
 10001 . \\
 10001 . \\
 \hline
 \overline{2} \\
 \hline
 111011100
 \end{array}
 \end{array}$$

: abc a, b, c

$$b + c = \overline{46} \qquad bc = \overline{555} :$$

$$(1) \dots \begin{cases} b + c = 6 + 4a & : \\ b \cdot c = 5 + 5a + 5a^2 & : \end{cases}$$

: \mathbb{N} $c \ b$

$$x^2 - (6 + 4a)x + 5a^2 + 5a + 5 = 0$$

$$(2) \dots x^2 - 2(3 + 2a)x + 5a^2 + 5a + 5 = 0 :$$

$$\Delta' = (3 + 2a)^2 - (5a^2 + 5a + 5) :$$

$$\Delta' = -a^2 + 7a + 4 :$$

$$\Delta' \geq 0$$

$$\Delta_a = 49 + 16 = 65 : \quad \Delta'$$

$$a_1 = \frac{-7 + \sqrt{65}}{-2} \qquad a_2 = \frac{-7 + \sqrt{65}}{-2} \quad \Delta'$$

a	$-\infty$	a_2		a_1	$+\infty$
Δ'	-	0	+	0	-

$$a_2 \approx -0,53 \quad a_1 \approx 7,5 :$$

$$\Delta' > 0 : \quad a_2 < a < a_1$$

$$a \geq 7 : \quad . \quad (2)$$

$$. (1) \quad a = 7$$

$$\Delta' = 4 \quad x^2 - 34x + 285 = 0 : \quad (2)$$

$$x_2 = \frac{17+2}{1} = 19 \quad x_1 = \frac{17-2}{1} = 15 :$$

$$b < c : \quad c = 19 \quad b = 15 :$$

$$. \quad abc = 1995 : \quad abc = 7 \times 15 \times 19 :$$